2022. 2.2

B -
Butminpr s rmzuitBudd. BB etz Frv,
2015, 410 ~ 2015.12.15 a LW-FERRBLTL ETG,
L~k 201,49, 22 P 20 %Ti’?ﬁ)ﬁ‘iﬁm% /N ERH3S
° %fie;fmts %) ')25,-
o o ki) o fo s B3 AL
o =,- k33 Ker = X (2-2&%«)

lo2une LB LECE.

@.Liéuwhmﬁ‘a”?j’ﬁﬁbﬁ BEpSEFIn.

M- bR




6 E% za 128 m%”fﬁ

8zax2xx=2) a2
3HT2R ez S,
£2E35 2 § 12 12272 2 H3e

2 BvEa YR e L33,

o, 1 3 0.o04 3

4 ) 2)o, ) 3

| O - 12
- 4 o)
2.0 ~1 0
— 20 o0

o)

2.0 {28 ks E i the Xk

( 6% d33E)

B=2x3 723 S$EE 2 13 R EWUTF

Y23, ¥o 8=Fx2 Xz

2324 &0
23 4 Lo
4 (0 12 19 20
10 {3 20 23 30
1 20 29 3240
19 23 32 4 3°
(0l ro 20 30 40 S0 o

b W
by = W M SN

0.0 4 3 0x (2 = s}
12 /1 Fx 12 s V2
{00 2% {2 = 24
-~ 2 I Xlax 40
40 4 x[2 = 52
-40 Ix2= to%
O
0,0 4 2 oaElLu :km""ﬁ%éﬁ
0 4 3 _ 2443 a7 3L
48 & 4 T 4 g 28

e — Y — b 7 ¥

E2 o 148a '%;'\‘ié;

( (0

>A

€ s331E)

LR 12t B LEFTA . 103t 0 KIU o FE %,
1143&\330 a‘},%li 10t 3% 2457xudd .
O, 04 9
g) 7
—0
4 /
% 4
-0
4
X 8 % 4
- 3 2
x 4 4
2 F
—_— q’_
o
05 o [28e< 5~ 3L R untldchsandd,
Jg. 1l 2 5 ]
3 7 0&>hepznza
—_a 2NRTRL 105E LR13s
/
Xio [ 0 0.1 % 0.0{x2
— 8 ¢ KQ&O!XS'
; 2 ) o, ( 3 5 ot
X 10 > 5
-/, 4
D 4 - 2l S | 4xs
X1 4 0 o " Tof T0° 10%
- 0
L 0 I VA A
w2 8




L5 0 £4. R 1223 oL

L .

23 42 ~ 00-~-%
4 x8 =32 32x8= 256 254 x2=2048
2048% 8= 16384 16384 x2=13(0"2

0.04 ) 1310 72.x8 = 104874

F ,,8@ 104856 x8= 238 8408
20 4 ..aa"
A ) ‘
86
s

3 8

13 | b

i s 7
8868

4
o 1
v 4+ 8
+ 3 3

0.04 2449%2 60

[+2320.04% (1 +008 +0.08%+0.08%¢008 +:)

PR 10 = 0EE I LR
_'\: S ~ - 2 _ 13 _ i3%35
23 92 (00-3 300~24 300~/ (300~1) X35

(23 %20= 4407

- 45t . A5y &35 L 435

10 Spo-35  104b¥ tooo S  toooo+ ¥

4350 43948

looooo + 50 ~ 100000 + 4

L 4348 Xp = 0,043 %8

23 100000 +4

e = —o.cecod

4

" i
%m’éﬁ'} nFok H0EAF3 ma- kit v Bl ey gﬁ s
b+ % o+ e x® e xt e x"'k-r‘x«*’x?é-
i) » (Clex*) v (1 +x%) o (1 +=2)

L+ 2
X4 + x>
Ltx +x> + F
X | . +x
| +% +;z(?- + 33 F yF 4 xS x?
EUEREE £4%. 2 R + AMETE ABRLE U
:z"L‘/?\a
7<m+; = Xy — ‘“fjiz—ll—
Fxn)
J[(Xm) = z;, - A
Flexa)y= -2
% - a
xﬂzﬂ = Z,n"’ :L'Z;:'
= X, (2-a 2.)




J“:
(323 atVE (@S age) (124 AT § e F.2 D
Za-buihc k3 1223 0 HE | SRR = 178 A2
* 0.04348 S1id-73 Bl e r5 s oy
= l'7??2, 3 0§o000 4
~l~ -~ —‘l = — q,m— S Yo 0= 0104348
23 12 100 - 2 % 0.0434752608 PR P — ;
434782608 x146=6758827 728 s |
0\:33 iZo = 0. 0% ?__3%_3‘6 0. 0434982608 i“v 91=3 >3 !
+ ?J‘AS‘Q/'):,&’
X, = o, 0 ‘fj 2 f’ 0@4?4'75?26085@;‘652\7>8 ;
434782608x25b% 177304347848 |
X, =00 %39 76 48 £F6482,93x25b=,980 84954032 (1¥3)
. 8x156r-204948 (L %3) ‘
X, =00 434 98 26 092% 66 208 /77304347448 1 |
/79084955032/ W oF ‘
g =0,0434 78 2608695652 + 2048
/726 89 239 23 14 ?‘18 /113043478 2608695823468
-ZO = 0‘04 |
0% x (2 ~0.094%x 23)
X l.0 8 S
= T A Wl .. ik Ll . 1. S
Z, = 0.0 432
o3 11 7304347826084988p368
0.04%32 x {(2-0.0432x22 ) & 0.04347826086956852173%13043478260869506R368
4
X l.oob% ,
&)./7—*368 394?
Xy =02 094397648 | 25hxps b= ] |
1523=0. 04348 %x0. 99994 % ! ' 1
) \ i Fo b5 B BE rd & | 6553%&!%/&:6 ’ ‘
O\O434’7(Z’4‘8X(2*0\0434764?)(-)3 J PP ”’o ' ) | :;,‘?24?5.\“2;730 “
% ‘,90004—0?() coooBVeCROoDE A6 % = L
X oo : 6ff3é-4" 5
Yy = 0.0%434082b099466208 . o %
(£23=0.043548 ws b ’
B ’ x{(+(~-a oaanvﬂ'} ﬁ‘?‘m?i'*’@‘7 .
/.08 = |+ 0,08 % TT TN x{1+(fo.00004))
N Xf’*-(—o 3003433 723 YR F LB
/.00 6% = | +0.08 | x{i+(-a 000043} )
i W sews = " 5
4 | sHI xO & 8 as
/.o0004096 = [+0.08 | :
| = Oy 397‘)04
SHE ER SR,






